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B. Com. (Part [) EXAMINATION, 2016
(Group—l : Accounting)
Paper Second
‘BUSINESS MATHEMATICS
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Attempt all the five questions. One guestion from each
Unit is compulsory. All questions carry equal marks.
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Find the maximum and minimum values of the
following function :

2
y==x +-l—xz - 6x + 8
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SIG % : ’ 15
log;o 54.23 = 1.7342"

logo 4.723 = 0.6742
fFefoRad o1 99 Fraferg

() log|(54.23)? x (4.723)" ]

G log| 542.3% (472.3)’ |
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o
(i) log o/o=3

logyg 54.23 = 17342
logyy 4.723 = 0.6742

Evaluate the following :
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Solve by using the rules of determinants :
13 3 23
30 7 53
39 9 70
O
(Or)
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and =!5 5 6

6.5 6
then prove that AB # BA.
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3. [faReg 9Regd wwmm cﬁ Hief-q% Wh fifr ¥ &«
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ElL D, D, | D; D, T
Q, 6 4 1 5 14
Q, 8 9 2 7 16
Q 4 3 6 2 5
a0 6 10 15 4 35
Solve the following Transport problem by North-West

Corner method : ‘ ‘
‘ Destination
Origin
igi D, Do D, D, Stlpply _-
Q, 6 4 1 5. 14
Q, 8 9 2 K ‘16
Q, 4 3 6 2 5
Demand 6 10 15 4 35
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Milk and water are mixed in a vessel A in the ratio
5 :2 and in a vessel B in the ratio of 8 : 5. In what ratio

should quantities be taken from the two vessels so as to
form a mixture in which milk and water will be in the

ratioof 9 :4 ? .

1400 G081 @ HRGT & 9 396 T I To9 SRR
$ RN § 18 7% O wown 3 S 9 v g
3 Fel o AR o & 432 W wid gen it
3 fewe ¥ a8 a2t WE 9@ AR 7 ?
A garrison of 1400 has provisions for 18 months at the
rate of 396 gram per man per day. How many men ‘

should leave so that the same provision may last for
21 months at the rate of 432 gram per man per day ?
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‘Wha'.t do you uhderstand by Sinking Fund ?
ROYA U4 4108 &) JARN Pl GHSY | 5

Explain the concept of Debenture and Bonds.
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annual instalment will discharge a debt o

What ’
7 4.620 due in 5 years at 5% compound interest ?
3rRrdl
(Or) .
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A man retires at the age of 60 years and his employer gives
him a pension of ¥ 1,800 a year paid on half-yearly
instalment for the rest of his life. Reckon his expectation of
life to be 13 years more and that interest is at 4% per annum
payable half-yearly, what single sum at present is equivalent

~ to his pension ?
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it 5U T 25% & wemalt ¥ srpchof gyl AR
140 faEmdl T wdemsll § Sl gy o wen # 9o
T o il A wen T AR |
"In an examination 60% students passed in Book-
keeping and 50% in Mathematics and 25% failed if
both the subjects. If 140 students passed in botf

- Subjects, then find total number of student appeared i
- the examination,
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How many pens as agent need to sell at ¥ 8.55 each to

-eam a commission worth ¥ 85.50 at the rate of

commission 5% ?
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An agent gets a 5% commission op the full sale and
3% bonus on the amount of the sale exceeding
I 10,000. He got I 1,500 as commission. Find the
amount received by him as bonus, ‘
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A businessman allows 5% + 3% + 2% discount on his
goods. Find the real and nominal rates of discount.
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